V12 x9% 51i/%d¢4a,7\77

ﬁﬁﬂil%% E5 I K R=
HAH AR TR Ao k&
KF® k% & A EE
A AEFH KR #E #A

bk d B8~ 5 > %% ’ﬁ(/zﬂfsfiﬁﬁrﬁ;h w1, TTrFo Tt
A fnl boThss HoroEenos B d, Hahoik T >m >85s8t
Fot AN AR LRI 0 F o NFoRAE G AT 2 LT Bo R, DM 0 BH
ol $ A e | T Eii}f-/'{‘fa‘swé’9‘";1’&3’%‘-2%3?&/@&%{15 crnt o, MEIEFE
By 2L saTrt, 2o i uWibd o Bent AR Td s S 22 BaMx o
BomiltA T ~Mhatbse s ~e, FLomAsL sk s, ThEOSE L2 2
%ggaéﬁéﬁfa,%éﬁﬁ B e FOIRA A s s ) BN LT 0D Kt r

Al T o B Al B3 0kl B0 B L3RI OEBA oML Fl 1Y
b ra bt dilhe s B1 7 Ehell vl o FAI R vH e, Frmb s, BA
B 1734 s DA tBB I M ELS 6 2L T 53,

Q#sho %50 85400 B v 3 ks ntt>v, BErz tHAT SHREd, 5 2%m
oAt hi -2 %Y, oz tHEbr BB BoRE 4N 2 LB LT o TR
b, 2o Bsifrhontmedttzs o E ti o, Yo BHENS s (T HEo
H@t 5 2 b pBYE 3. 20hs Fico oy 2 4BME L Ribaagt 1772 &,

I BRHERER B R E o3 T A BB B B
B BALE b weh ) EEE - S 3 A AT
F 3951 3 w510 0 B 094 ie o B A
£ AT ke A T s WA S & v AR
b 123 e o AWt e KT S AR
B EBmko Fitdo Bk Yt bhis b, 7% TLAH (2 T2

Ye)=A+ Bt + Pt + £e)

o oh LN

ol IR BT s Bl BRCHRRI B R
' B | il
EX Soo0
%4{000-
|~
ﬁa,aoo
2,000
/,000"
R T R S A S A A S R S A TR
9% 30 3! 32 33 3¢ 3 3{ 37



A+DBt: Edsy . nam %0 1T 4o ¢, wi —2XK b k2L T2 A,
Ple) I AGER P T, oA EHEML LT h MG BB RS By T8 T,
S A A ARBE Y BA LA o NEE et 1 BB TR 3 Lo LK
Zsms o, ThbsERhssoMmEioF rss, Tt ENFHL
TH L Taesk 1245 mé%‘f&éxj/ﬁo/—m\?{n O¢% 3. %Anr Oagliin
69 2 ﬁuur[e*’f&}kn/ﬁfﬂf't S ek 2z 0 Q)= L(«A /”tdr/é)\m"—?f) LB H s
Et) [ HKEHE B> wHBFEB Wb h s E M B Yr b > LB 2 LA 2 TR
AEase £, BB, EF oo Tl (a4 oMb RI B rlg o
ABMEGpE —d e |l TEAafhr T3
/Z
T4 b3 STgwr =0 FEkw Plt+2i)=ge) (Bl L0, L2 THELT)
t=t )
Brwh i tRoshn  YEH24)=AFBE2O+ Gt T EEN2AD T FH 3 4 s F A
B -5 Ao 3498 Fodd
_ /2
4 = /é D Y(t+m2i) = A+ BCEStI2a) + ,ZZ.f(t+/ZA)
+=/
ﬁ%ﬁ@l&ld’7%—lf}d) f—fﬁl/zﬁ.’f 43 A8 A9 C el ok 52w 3 ¢ 24 f/’g'ﬁé‘l 4
o= A+ B(bs+124)
A=0,1, 2. nid tH i3 ki1, REA BtRNAXLZEAL>TXZs3 L

=l
;}Z Go=A+B4s+z ")

h

A=0
F~f
A G . A=l . 3(n—1 22 (-~1)(2m—1) }
“;”7/"2’4“3{ A

fTiﬂLifJ A, BtAszabar s Kathe-ovwTnAd Ao F bt Ky sk,
T Lttnd) ot 0l Lok LT A wes 3 b

-

%‘flwtﬁz«‘) =A+B(t+bn~8) +F)

L=0

I K 5 B S - : 3 L) ; B
P X FLENA B A mN o S84 b & v Frh BE B AF ) f.,/u.uﬁét
i 4 o kAl /121312l s5|6]l7 18| 27017772 3|68 % i
5@3.;@//7_/,; g v £.2 w7 cf A om | F {77123 7 s 24/ / 120 2/48 R g%
(833/0042) | Y% |6#16]19/7| 5841 4071 /67 |333]083 0.83 /o0 5
| & N By |z | 7 |04|12] 6] 4 6/ 17 / sl 705
L H(tt/24) ~Y =B(t—F 1=
/nAZ;D ‘7'( ) ? BC 2 (08 31, 10.01) | % | 73.0\047|522 1 348 522087087 0.87 /00 /67
+?((:) 4 @ F f |r02|/4 | /0|3 3|2 / / 36,2/ 232
(88300./3) | %o | 754|373 |22 122 (/5 2.75) 275 o0
B f177| 4\ 6 / 217 VAN Y4
. £ 687
R T ¥ T ¥ |szrorer | Do\ n2\o9\sos]  lo77)iz8\09s /00
i T B £l 8 | &7 |/ 12 2 /27|50 | 502
TR B A8 PR S I ‘H 15 51-0004) | % 1945 | 6.2 | 4685|0775 \a775 155 455 /00
o & it f g9 (77135317 |176|3 |32 /L7 oyl 9iSs N
LYy 2 ke B3, G S Lo \ 747|108 58312761077 26705 | 05 | 233 0.7\ 047 100 :
& 0 ! W g9 142|705 52 |35 | 96 |2/ |24 |18 sr |72 |245| 265
ARbBt b 2Bn-> o Tk o | 265\ a7\ so7| s# 1343 \295| 209|299 ,26 Ay

A F L LR L b2

—368—





